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Part—1 (Botany)
(2ies St g Biew =Keai=)

\/2-/ Define the term Apomixis.

SERIGS AeRl {774l |

3,/ How the ages of fossils are calculated ?

GRS R (@EE Wt 39 237

4. Write the scientific name of the microorganism used 10 produce

ethanol. 1

ST e SR TN A S R e A e
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3.

What is Triple Fusion ? Name the nucleij involved in triple fusion.

fPieT S @ ke wite (PR 3RS A% &= |
OR/ &<y

Explain any two outbreeding devices that flowering plants have

developed to encourage Cross Pollination.

memﬁﬁm%ﬁﬁaﬂm@m%%mﬁ@wﬁ
e (S 2 5|

6. Mention four objectives for improving the nutritional quality of crops
by the process of biofortification. 2
TR AT G LT Gwrgely 91 AGE Sereiaeioeae] A2l bISGI 71|
Tl 9 |
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OR/ &2l

What is totipotency of the cell ? What is the importance of totipotency

in Plant Science ?

i sjeifETel IF @IE? SfEn fraie sjdeyeTeN oY 7

/\lnte a brief note on Biochemical Oxygen Demand. 2
sERmERS W bifzut (BOD) Wﬂ%ﬁg@mﬁm

OR/ 133!

What are Antibiotics ? Name W0 microorganisms used to produce

antibiotics.

aﬁﬁwﬁﬁﬁmmﬁsmﬁz@ﬁﬁmﬁmw 7/9g SEEEs i ferdl |

i

v-e./ How the insecticidal proteins act ON Pest ? 2
SaErReE & BE Singe @EE 32
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ORI g2y

//@be briefly about Bioreactors.

AN REATT T 53is el |

9. Whatis Single Cell Protein (
SCP.

_ 3 o7 52 SCP e st <remm < 7Y CETiES i R

SCP) ? Name two algae used to produce

2

OR/ &i9<Y
Write an account on the role of microbes in biogas production.

&9 (o2 BRAMTS SISl Sl A <51 Bl i |

10. Explain briefly : (any one) | i
5N I 4 8 (7 izt @)
(a) Molecular diagnosis.
el Wi |
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(b) Molecular Scissors.

/ TifeE @ |

(1/1.What is Mutualism ? Explain mutualism with suitable examples.
: 3

TRAFIRS FIE @ ? SR Srizgd TR RIS T aeft |
OR/ <1241
How do biofertilizers enrich the fertility of soil ?

GIENE (e ToT SHKqwl g B2

12. Write the scientific names and parts used of following plants.

weTs Tl Sfen TEa e A S IO LT A |
(a) Tulsi
el
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(b) Kalmegh

PG

(c)' Bahak tita.
qzios |

OR/ G2

Write a note on adaptation of plants to water scarcity.

SETPRES A SR Siermy ) SCaeRPRES RA < il e

\%cuss the methods of breeding for disease resistance crops.
3

W@ﬁ@fﬁﬁi\? IR 9 geed S TR RAQ A6 5= |

OR/ G241

What do genetically mogified organisms (GMO) do to the food 2 How

do they useful to us ?

SIRRRT RS Sz e & Gl <@ fiw @wss simE e
AT 2
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14. Describe the post fertilization changes in embryo sac.

BEeR PIbs Sedee e (il #RET TR I
OR/ @1

Discuss the biotic and abiotic agents of Pollination with suitable

examples.

@ﬁg@@mmamiﬂ@ﬁwﬂaﬁﬁﬁv@&amﬁ%aaﬁ@vmﬁqﬁmm@mmmm
4t |

15/ Write a brief account of evolution. ‘ 5

FRerE b o3 [Keed B

OR/ @231

What is Population Growth ? Write an account on exponential growth

model of population.

wmﬁmg%?W$Gma?wmﬁaﬁ&ﬁﬂiﬁﬁﬁwéﬁmma$n¢a|
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Part—Il (Zoology)
(TaSIs =i ¢ efFifEeai=)

1. Fill in the blanks : (any two) 1x2=2

AT O S T 2 (’ et 75 :

(a) __________ cells present in mammalian testes help to nourish
sperm.

(PR @I Tyl AT S 9@y @ 72 @eTe
H2E S|

( The genes located in Y chromosome are called

YW’W’E‘W@WW el (23|

(c) The major reservoir of carbon on earth is

SRS P I Sleig 2E

(d) Typhoid fever can pe confirmed by test.

BizwEe & Y] FR 7N WRce 39 o |
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2. Answer any two . 1x2=2

& e ghe T ol 8

Jd)/ Why sperm contain mitochondria ?

e 5 20 e AE?

(b) What are Okazaki fragments ?

e de @R B

(c) What are the two basic amino acids which are found in high
amount in histone protein ? ‘

38 oo @ 3Ry wee i A afbw wifde sfe Al T e

What is transgenic organism ?

(FocEe Gk 52

3. Answer any four : 2x4=8

@ e sifep19 ©ed & ¢

V({ Describe the formation of Placenta during pregnancy.
STSYEIT FATS SRS 5wy qelenl 341 |
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(b) Why coacervates were called primitive cell ?

(FRBNISE @I [ =i @17 I @it 2

/(7/ Write the applications of DNA fingerprinting.

fe.qm.q. ReoliafafBey e s o

(d) What is Amniocentesis ? Why does amniocentesis is banned ?

A HTEDR Rre fogy qufier sz Wim w1 @22

(/‘4 Define chromosomal theory of inheritance.

RN TRy weg gel B9 |

() What is Red Data Book ? Which endemic animal of Assam is

presently listed in Red Data Book ?

(FC Tl IF [y R (@HRE BT T ISNE @ G5 T
LG T (Rrx?
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4. Write differences between : (any two) 2x2=4

ﬁ@»‘fmgﬁﬁ CIREIREEIE

\94 Homologous organ and analogous organ
WCE R0 S TR west

(b) Linkage and crossing over

P EG RO SR SR (107

\/&)/ In-situ conservation and Ex-situ conservation
FI AT N ARy FeTwe
(d) Plasmid DNA and Chromosomal DNA.

Areie fG.9T.q. iﬁna: FE S G, |

3

5. Express diagrammatically the various phases of spermatogenesis.
3

yrems ST [Kieq i g s g w91
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OR/ <251

Diagrammatically express the mechanism of ftranscription in
Eukaryotes. 3

TRCPREUR (TS Foies eifemal T oo 41 |

Wat is Human Genome Project ? Write functional aspects of human
© genome project. : 1+2=3

T & cﬁﬁmﬁs?mw'mﬁﬁwmﬁﬂmﬁw .
OR/ &2t

What are the different types of RNA Polymerase found in the nucleus
of eukaryotes ? State function of each of them.

116+112=3

PR (FRE (@l (arq [OH 2T oie.Gw.9, ARHIESER &7

/ What is Food Chain 2 Mention the basic characteristics of food chain.
: 1+2=3

iy 14wl [ 2 Ay wjeeer o1 @RS m Sraw 54
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OR/ &4l

What is Multivoltine ? Write the scientific names of two silkworms of

Assam with their host plants. 13+2=3

oo 52 SPRE 7R B Ao (AR ST T AR A

‘DNA is a genetic material’, explain the statement with the help of

Griffith’s experiment. _ 5
.. T G T T sl Afred AT FRITS T 1
OR/ &4l

What is Genetic Code ? State the principal features of genetic code.
1+4=5

Ty ke B2 a ey e @S IR S <

What is Sexually Transmitted Disease (STD) ? What are the primary
symptoms of AIDS ? Discuss the methods of prevention of AIDS.
1+2+2=5

T RIS 1ol 5 2 9230w strefis TN R 2 (o aforaiE Soir
IR WA 1 |
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OR/ 594

What are the harmful effects of drugs ? Discuss the various means
of prevention and control of drug addiction. 2+3=5

TS TS FhoFiee afofert m%?wm@ﬁ%ﬁaﬁmawﬁma
fRfSq Soilm IE Sl 41 |
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